e
@ X ChangRong ~ S

LUl nangrang

CHANGRONG i s

R, -E ﬁ ChangRong

EHANE HUNE r"_"l’ul:'..l.__.'.' I:_:Ilii.jllil._._‘ll. ::'.I_:-_:I Ir:".ll L.:..I.' 121 _'.' L.- L., 'l:-\.- '

\-H—
o0
|
=l

JEXE Nylontube NERRE

Double Layer Nylon Tube & Reinforced Tube

CR-PA11 PA12 CR-PA11 PA12 CR-PA11 PA12 CR-PA11 PA12 CR-PA11 PA12

PAG-001 PAG-002 PAG-003 PAG-004 PAG-005
OD=xWT 0.D 1.D Color Price ODxW.T Q.D 1.D Color Price
16x2 16 12 O9x1.5 9 6
15%1.5 15 12 8x1 8 6
14x 2 14 10 Bx1 6 4
14x1.5 14 11 5x1 5 3
12x2 12 8 4 %1 4 2
12x1.5 12 9 4 %075 4 25
12x1 12 10 31 3 1
11x1.5 11 8 1/4 1/4 | 0.171 _ 1/2
10x1.5 10 | 7 a/8 3/8 | 0.251 ~ | 5/8
10x1.25 10 7.5 1/2 1/2 | 0.376 : 3/4
10x1 10 8 5/8 5/8 0.441

NOTE: Available Color: Black,Red,Yellow,Blue, White Nature Material: PA11 PA12 PAG NOTE:Available Color: Black,Red, Yellow,Blue White,Nature Material: PA11 PA12

WWW.Zjorjx.com k

Page 05 Fage 06




4

CHANGRONG

-E :%: ChangRong

¥ o o e [ o P g
.Ll||'-','l Lrlaflygrongy Machinery Co.,|

[L

DEE

CHANGRONG

ChangRong

] . mam ey Ay b ' i |
ai"rr.'!.n'." L.’.'L?.'.'::_?.'L:'ull._q Maihinery Lo, I

o

L.

F= &R

PUE PU Hose

93

e B

Trailer Air Brake Hose/Air Brake Coil/Suzi Hose/Air Coil

CR-PU-001 CR-PU-002 CR-PU-003 CR-PU-004 CR-PU-005
ODxW.T 0.D LD Color Price OD=xW.T O.D L.D Color Price
16x2 16 12 8=1.25 8 5.5
14 x 2 14 10 8x1 8 ]
12x2 12 8 6x1 5} 4
12x1.5 12 9 5x1 5 3
12x1 12 10 4=1 4 2
10x1 10 8 4% 0.75 4 25
10x1.75 10 6.5 43 x 0.5 3 L
8x1.5 8 5

NS PAT2 12X9 M22K1.5M16¥15 12

R SRR PA17 12M9 M22¥15 MLeX15 12

PALZ 12X9 M22X15M16X1.51/2

CR-PA-005

PALZ 12X9 M22X15M16X151/2

CR-PA-006 |[ECEEREECE S ek aR) LI RPN

FALZ 12¥9 W25 MI18X1.51/2

CR-PA-008

PALY 1269 MZZKLS M1AX1S 172

m FALZ 1209 M22X1.5 MLEX1S 12

R R FaTr 1239 M2 SMIEX1E 12

*
&

by

PALZ 129 M22X15MI16X151/2 |

EEN FAl7 12%9 MZZX15 M16XLS NPTLZ

MOTE: Available Color: Black,Red,Yellow,Blue

RALZ 12%9 M2INLS M16X1S MPTLS2

PALZ 1269 M22X1.5 MLEX1S5 12

FALZ 12¥9 M22X1.5 MLEX1S5 12

Material: PA11 PA12 PAG

Page 07

WWW. ZjCrjx.com 3

Page 08




i

=

CHANGRONG

ChangRong

huji Changrong Machinery Co.,ltd.

2 ok B

PALZ 12¥5 MZXX1S5MIGK1S NPTLZ

Z1/2 MNPT1/2

CR-PAD-001

PAlZ DOT Z1/2 NPT1/2

e RIE FAl2 DOT  Z1/2 MPTLf2

Trailer Air Brake Hose/Air Brake Coil/Suzi Hose/Air Coil

e e Bl A1) DOT 2172 MPTL/2

e RINEY o127 DOT Z1/2 MPTLS2

PU 12XE MZ2¥15MI16X1.51/2

PO |l||'|'_||_|'|I‘-51|I'|.

=AU~

CR-PU-003

PU 12XE MZI15M16X1.51/2

B = ooaswoas

Fage 09

CR-PU-006 (NS e a0 i1 el

CR-PL-004

PU 12XB M2ZZXK15MI16X1.5 HE_

/

W !

,@ﬂr'

CR-PU-005

PU 12X8 M22X1.5M16X151/2

NOTE: Available Color: Black,Red,Yellow,Blue

CR-PU-00T

PU 12X8 MEZX15MIGN1S 172

Material: PA11 PA12 PAG

e Pl 1238 M22X15 M16X151/2

WWW. Zjerjx.com 3

i

CHANGRONG

&

ChangRong

Zhuji Ghangrong Machinery Co. lld

DR EE S

Trailer Air Brake ReinforcBddimsafikiHdsake Coil With Double Layer

CR-P-001

5M 7.5M 10M 15M

5M 7.5M 10M 15M

CR-P-004

5M 7.5M 10M 15M

5M 7.5M 10M 15M

CR-P-006

5M 7.5M 10M 15M

g Pl -
P TR

Dexd BEx5 BFl0x6.5 B12x8
____S5M 7.5M 10M 15M

T
R

ELL el

MPTL 4 360°HEE

NOTE: Available Color: Black, Red,Yellow,Blue

Material: PA11 PA12

Fage 10




R, -E :% ChangRong

CHANGRONG

.il.-u. L ll..llll“ UG M

d 4
-|||I| F1ery O L

re E = ChangRong

r||||l

CHANGRONG

APl | 5.'-'||J |-I\'.i‘ e II Iw_l « il LILL .

= m 7R

£ I

E £ S &

Trailer Seven Core Cable/Electrical Cable/ABS/EBS Cable

CR-C-001

PA MN&S S5M 65M 7M™

PA M B.5M M

CR-C-003 Pa MN&S S5M B5M TM

PA

5M B.5M T

CR-C-005

CR-C-008 APIM

CR-C-007

PU MNE&S 35M 46 45M 5M

CR-C-008 LU

I5M 4AM 4.5M 5M

CH-C-009 e T ST 1 R K R Y

BT

aPIN FPIN

CR-C-011

FU MNES 35M 4M 45M 5M

P MN&S 35M 4AM 45M SM

e P NS 358 4B 45M SM

PU N&5 2M

PU MN&S 35M 4M 45M 5M

ExE £t S %

Trailer Seven Core Cable/Electrical Cable/ABS/EBS Cable

PA PO 3.5M 4M 4.5M 5M

m PU 3.5M 4M 4.5M S5M

Heven core cable

m FU  3.5M 4M 4.5M 5M

A ———
Jud T ||'||"|I.'||H‘

\ ¥ |

35M AM 45M 5M

40 4.5M 5M

A

3.5M 4AM 45M 5M

35M 4M 45M 50

CR-C-026

24V Metal

M&Ss 24V Metal

CR-C-028

24W Metal

24V Metal

Fage 11

WWW. Zjcrjx.com B

Fage 12




ChangRong

AR ir.r."_u." |, N (= .|..|_|||| 'Lu'.l ”'"“r' L_:L:'..II:II.J'I. JI nnﬁ‘{lx

nfe=y
Lﬁm Chﬁ;:ngong% _J e

&

CHANGRONG <Nuji Changrong Machinery Co..Itd.

k. O

Electrical Cable Plug &Socket

3

Ve

CR-C-031 12v Metal

MPT1/2 M16x1.5 M22x1.5 M16x1.5 MZ2x1.5 NPT1/2

;

NPT3/8

M&S 24V Plastic

&

JPIN 5PIM

v

2xTPIN-15PIN

M&S 24 Plastic

M22x1.5 NPT1/2

MN&S 12Y Plastic

B oo

-

MPT1r2 112 M16x1.5 M22x1.5

15PIM TPIM 15PIM

M22x1.5 172

WWW._Zjcrjx.com X

Page 13 Page 14




-t

ChangRong i p fx 5% ChangRong PO

CHANGRONG </U// Changrong Machinery Co.,ltd. CHANGRONG <huji Changrong Machinery Co.,ltd.

Mi2x15 M14215 M1621.5 M1Bx1.5 M12x15 M14¢1.5 M1E1.5 M18x1.5
MZ215 M24x1.5 M2E1.5 M2 M2 5 M24x1.5 MI6x1S M3

M1221.5 M14x1.5 M16x1.5

12 78 aMd 38 THE 14 Mig=15 MZ2x15

IM12x1.5 IM14x1.5 IM16x15 |
IM18x1.5 IM22x1.5 |

M18x1.56-M22x1.5 M6 5-M22x1.5
M22x1.5-M22x41.5

@4 @5 @6 58 310
212 @14 &15 516 518

B4 @5 @6 @B @10
B12 &4 @15 @16 218

14 516 38 172 58 &4 @5

6 OB @10 212 @14 816 a18 IM22x1.5

st

- | :I .?

M14x1.5-3/8 M16x1.5-3/8
M18x1.5-378

M22x1 5-M18x1.5 1/2-M18x1.5
B1Ex1.5-M18x1.5

M22x1 5816 M16x1.5-E13
h16x1. 5811

M4 ME ME M10 M2
Mi4 M15 M16 M1E

M4 ME M3 M10 M12
Mi4 M16 M8

&

MZ2x1.5-M12x1.5 MZ2x1.5-M14X1.5
MZ2xl 5-M1621.5 MZIx1.5-M18X1.5

M4 ME MB M10 M12
Mid4 M16 M18

MEET MADRH A 2] 5 M1 4x1.5 M16x15
P18t 5 MO S M2 5 M2ds1 5 Ml

M22x1.5-M16x1.5 M22x1.5-M18%1.5
M22x1.5-172 M22x1.5-278

M4 ME M3 M10 M12 M14 M15
M16 M8 14 3B 112

M4 ME ME M10 M1Z2 MT14 M15
M16 M1E 114 2B 142

CR-025

.'1‘14|

MZ2x1.5-36 M22x1.5-08
M22x1.5-E10 M22¢1.5-E12

M12x1.5 M14x1.5 M16x1.5
M18x1.5 M22x1.5

M22x1.5-M1241.5 M22x21 5014215
M22x1.5-M16:21.5 M22x21 5-M18x1.5

Mi2x1.5 M14x1.5 M16x1.5
M1Bx1.5 M22x1.5

M22x1.5-86 M22x1.5-058
MZ2:1. 58010 M223x1 5012

hM22x1.5-86 M22x1.5-88
MZ2:1 54810 M22x1.5-512

WWW.Zjcrjx.com [

Fage 15 Fage 16




- Eﬁ ChangRong

Lhuji Changrong Machinery Co. lld.

FE R

@

CHANGRONG

E :% ChangRong

Zhuji Changrong Machinery Co.,ltd.

MZ2x1 536 M22x1.5-08
M22%1 5-E310 M22x1.5-E012

M22x1 5006 MZ2w1 5558
MEZ2x1. 5010 M22n1.5-6512

M22x1.5-E6 M223x1.5-08
ME2x1. 5810 M23x1.5-312

106 10x8 1246 128 12¢10 145 1428

TdotD 14212 15w6 16x8 18x10 16212

MEx1 10T MI12x1.5 M1 5
M1Ex1.5 M181.5 MAIx1E MZ2%1.5

& =

r -I.'.'."r
- - T
P ¥
N s

MExT M10x1 M12%1.5 M14x1 5

1615 M1Bx1.5 MARa5 M2Z2x1.5

M16  MLZ2

MPT 172

Page 17

WWW.Zjerjx.com 1)

M22x1.5-M22x1.5

M16x1.5-M18x1.5

M2201 501215 M22:x1 5M14x1.5
M22x1 5-M16x1.5 M22x1 5-M18x1.5

ED seal [NCH METRIC

MZ2x1 5-M121.5 M22x1 .5—3.-114:-:1.5--
M22x1 5-M18x1.5 M22x1 5018215

MZhc] 521 S MER S 5
Lt L R e R R D R e

m M22x1.5816 MG 54313

MiZdl5 M14x1.5 M1Gx1.5

M18:1.5 M2215

M12x1.5 M14x1.5 M16x1.5
M1Bx1.5 M22415

@@

M12:1.5 M14x15 M1G21.5
M1Bx1.B M22x1.5

MiZx1.5 Midx1.5 Migx1.5
M18x1.5 MZ31.5

M12x1.5 M1dx1.5 M18x1.5
M18x15 M22x1.5

M12x1.5 M14x1.5 Mi18x1.5
M18x1.5 MZ2x1.5

MiZx1.5 Midx1.5 MIGx1.5

M18x1.5 MZ21.5

12215 M14x1.5 M16x1.5
M1Bx1.5 M22x1.5

Page 18




2, x5 ChangRong

M12x1.5 M1421.5 M16x1.5
M1Bx1.5 M22x1.5

MZZel S-M22x15 M22x1.5M1Bx1.5
MZ2n1.5-M16x1.5

M12x1.5 M14x1.5 M16x1.5
M18x1.5

IN22x1.5

M12Z M14 MIG MIE M22

CR-066

10mm 12mm 14mm 16mm
1Bmm 20mm 22mm 24mm

10mm 12mm 14mm 16mm
1Bmm 20mm 22mm 24mm

-

—

. N
! f
—

C

O

10mm 12mm 14mm 18mm
1Bmm 20mm 22mm 24mm

10mm 12mm 14mm 18mm
18mm 20mm Z22mm 24mm

10mm 12mm 14mm 16mm
1Bmm 20mm 2Zmm 24mm

e & ¢

—

Steal grease nipple

Brass grease nipple

E Stainless steel grease nipple

Rt

# F it hanar A ldarhinarre | #
CHANGRONG Lhuji Changrong Machinery Co.,lld.

ChangRong

= mm R

Page 19

WWW.Zjcrjx.com 3

=

ﬂ 00110 00210 03370 OO 00

Page 20




?

o~

L=

ChangRong

Q toNg  Zhuii
CHANGRONG T

hangrong Machinery Co.,lld.

@&

ChangRong

rI I--.'l'

Zhuji Changrong Machinery Co.,ltd.

F= mm &R

4 W8 172 304 17

W

CR-100

4 05 06 B8 210 912 14 @15 86
14 34 1%

24 &6 @8 @10 @12

14 /8 12 34 1"

- ..-'I
- O

14 38 172 2 1"

.

B4 05 @36 B7 08 B9 30 a1 M2

SRR 013 014 915 G16 14 38 12

B4 @5 06 98 510 912 @14 @15 B8
4 38 12

24 O 88 &0 312

1H o6 08 M0 212

114 38 12| 6 58 8M0 M2

M12el5 Midnl 5 MBS Milxl 5 M22x15
06 &8 (M0 M2 @5

- SN

Bs

108 14 38 172

B4 06 @8 &10 @12

sl
- LiF
®

»

&

1/8 14 38 172

6 GE G510 &2

S (DB

o

HVFF @6 @8 @10 &12

CR-111 24 @5 96 Q8 310 12 214 &6
S 1 38 112

ki

&y

94 @5 86 98 M0 12 M4 E16
114 38 112

94 A5 P6 98 M0 B12 M4 &6
14 38 172

24 06 08 @10 @12

B4 06 BB 910 &12

118 26 08 &10 212

14 38 12 26 08 D910 &2

18 14 38 172
24 06 @08 210 @12

Wiz

1B 1/4_3/B 172
26 98 910 @12

B84 OB S8 S10 312 314 @16

24 06 @8 810 &12 514 318

Page 21

Www.zjcrjx.com s

Page 22




ﬁ ChangRong

CHANGRONG huji Changrong Machinery Co.,ltd. }t CHANGRON

E # ChangRong

I:I —_—
Zhuji Ghangrong Machinery Co.,lld. F: I:II:IE:*—F

0o
il
A

m
s

|
1N !

1/8 14 |84 06 @8 @10 @12 178 @6 @8 @10
3/8 12| B6 58 810 812 114 3/8 12| @6 B8 G10 B12

B4 06 &8 310 @12 @14 216
114 38 152

24 06 @8 @10 @12 &14 e

14 B 172 Q6 @8 &10 @12 214 316

B4 08 @8 @10 &12 214 M6

B4 05 D6 08 99 @10 @12 814
915 316 @18 147 38 U2 &

E4 25 56 98 89 @10 E12 B4
@15 @16 318 14 38 12 58

&4 OF8 OF &0 (M2 @4 216
104 38 12

m &6 OB 10 @12 m 04 Q6 &8 @10 @12

W25 Mde1 5 M1Ex]S M18x15 M5
&6 08 @10 @12 915

o4 05 06 OB 08 210 @12 314
215 @16 @18 14 3B 1,2 58

Bd 25 B @8 99 310 @12 @14
5 216 @18 14 38 1/2 58

06 B8 @10 @12 &14
144 3/8 142

86 OB @10 @12 &14
1
g6 @8 510 @12 814 @16 ﬂ 1/4 /8 1/2

MiZ1S M1dxlS MiGxl5 Mi8xl5 M2215
@5 08 @10 @12 &S5

18 14 (B4 D8 S8 &10 512
38 172 |66 88 BN £12 94 216

14 118 26 8 M0 M2
a8 12 26 0 M0 @12

104 178 &6 OF &0 512
A8 172 &6 88 910 512

26 08 @10 P12 &14 &6 OB @10 912 &14

18 14 &6 &8 10 @12 | 1/8 3B | ©6 @8 @10 B12
a/lg 12| @6 B8 @10 @12 | 14 12| B& 8B 810 812

1/8 3B | ©6 @8 @10 @12
1/4 12| ©6 @8 @10 212

178 14 38| 06 &8 10 @12 1/8 1/4 3@ 152
112 &5 &8 M0 @32 514 &6 @8 S0 M2 &4 @16

WWW.Z|CrjX.com 3

Page 23 Fage 24




[ EHANEHDNE

ChangRong

IIIIII

i Changrong Mac o.,ltd.

= BRI @

E % ChangRong

CHANGRONG

I:I —
Zhuji Changrong Machinery Co.,lld. J AfA E g5

Fi12 F18 F22

g8 38 @10 &F12 014

Fage 25

WWW. Zjerjx.com *

Page 26




ChangRong

Zhuji Changrong Machinery Co.,ltd.

-t

CHANGRONG <hull Changrong Machinery Co.,ltd.

ChangRong

I &R

14" 18" M0 M12x1.5 M14x1.5
MiGx1.5 M18215 M22x1.5 M26x15

104% 108" M10e! M12x1.5 M1dx15
M16:1.5 M18x1.5 M22x1.5 M26x1.5

I, A

MNGE MGE NG12

GAMOM2M4016

NGE MGE NG12

BI&M012/14/16

NGE MGE NG12

a0 21416

hghE MGE NG12

GBAM012M1 4016

g

MGE NGE NG12

GAM0 21416

Mgh NGE MG12

M10PS M12P5S M14P5
M16PS MZZP5

M10PS M12P5 M14P5
M1G6P5 MZZP5

Page 27

WWW. ZjCrjX.com *

- __E -

-

P

F1d F12 F14 F16 F18 FZ2

MI1D M12 MI16 M22

M16F12 M22F1Z MZZF16

MZ2F16 MZBF16

3

MI10F12 MI12F16 MI4F16
M1GF22 M12F22

M12 M16 M22

@10 @11 @13 3145

F10 F12

86 08 @2 @0 @11
212 &4 315 M6 218

m F10 F12 F16 F22

Mi10 M12 Mi16 M22
&6 08 M0 @12 @15 E16

w

M10OF12 M12F12 M1ZF16
M16F18 M2ZF18 M2IFX2

M1GF1E

Page 28




ChangRong

Zhuji Changrong Machinery Co.,Itd.

@

e

L d

F16-P5

F12 F16 F22

068P5 DBPS 10P5 12P5

e

F12 Fi186 F22

M1G6PS

M1&6F16

st

¢
¢

MI10F12 M12F12 MI16F12
M16F16 M22F16 M22F22

MI10F12 M12F12 M16F12
M16F16 M22F16 M22F22

M16x1.5-P5

F10 F12 F16 F22

M10 M12 M6 M22

56 @8 @10 812 5 M6

88 08 10 #12 M5 M6

>

M12 M14 MIG M22

96 @8 M0 @2 M5 @6

F12 F14 F16 F22
a6 98 @10 M2 @15 @18

M1Z W16 M2
96 &8 @10 @12 M5 @8

E :%: ChangRong

CHANGRONG Zhuji Changrong Machinery Co.,ltd.

= R

E g6 08 510 812 M5 6

Mi12 M6 M22

B A8 M0 @12 815 16

CR-2289

Part Raf Thread Size | Tube Size(mm)
1/4° 12x9
MLZ2x1.5 12x9
Mldx 1.5 12x9
Mlex 1.5 12x9
MILEx 1.5 12x9
MLEx 1.5 15x12
M22x1.5 15x12
Mlex 1.5 16x 12
M22x1.5 16x 12
MlGx 1.5 18 x 14
M22x1.5 18 x 14
M2Bx 1.5 18 x 14
ML12x15 9x6
MlGx 1.5 9x6
M22x1.5 9x6
M12x1.5 11x8
Mlex 1.5 11x8
M22x1.5 11x8

Page 29

Www.zjcrjx.com s

CR-230

@5 @8 @10 M2 @15 @6

Part Ref Thread Size |Tube Size{mm)

Mllx 1 L.

1s8° Gxd

1/4 Boxd

Pl x 1 B x4

Ml2x15 Bxd

Mlax 15 Bxd

Mlex 15 B x4

M22x 1.5 B x4

1/8" 2xb

1s47 Bxb

PALOx 1 Bxb

MLl2x15 Bxb

PMl4x 1.5 Bxb

Mlex 1.5 Bxb

M22x1.5 2xb

1s4 10x7.5

Mllx1 10=x 7.5

M1l2x15 10x 7.5

MLl2x15 10x 7

PMldx 1.5 10=7.5

Mlex 1.5 10x 7.5

Mlex 1.5 10x7

MLEBx 1.5 10x 7.5

MLlBx 1.5 10x 7

M22x 1.5 10x 7.5

M22x1.5 10x 7
6-M10*1 B-M16*1.5 12-M12*1.5
6-M12*1.5 8-M22*1.5 12-M14°1.5
6-M14*1.5 10-M12*1.5 12-M16*1.5
6-M16*1.5 10-mM14*1.5 12-M18*1.5
g-mM10*1 10-M16*1.5 12-M22*1.5
B-M12*1.5 10-mM18*1.5 15-M16*1.5
8-M14*1.5 10-M22*1.5 15-Mm22*1.5

Page 30




-Hi

CHANGRONG

ChangRong

Zhuji Changrong Machinery Co.,ltd.

= R

=

CHANGRONG

ChangRong

Zhuji Changrong Machinery Co.,lItd.

M WS ME M0 M2 M4 MG B8
114 38 172 58

B DG M3 M0 MT2 K14 M6 M1B
154 38 172 508

M ME M3 M0 M2 W14 M6 M8
14 B 172 58

= 104 5716 3/8 1/2 B/8 3/4

114 516 3/8 112 578 34

NPT1/4 NPT3/E NPT1/2

JB-114

144 Bi16 378 172 BIB 354

1/4 50116 378 142 5/8 3/4

18 14 SM16 38 12 34 5B

iy [ b T R

18 194 BME B 12 34 58
G144 @516 38 812

18 14 516 38 172 34 58

@14 @16 938 @12

@6 B8 &10 @12 M6 &8

M22x1.5-12 M16x1.5-12
M22x1.5-10 M16x1.5-10

Page 31

WWW.Zjcrjx.com n.

Page 32




@

—- ChangRong

CHAMGRGHG Zhuji Changrong Machinery Co.,ltd.

W
=0
&

CHANGRONG

ChangRong

Zhuji Changrong Machinery Co.,lld.

@
/

FPage 33

WWw.Z|crjx.com '

Page 34




= =g
@Em ChangRong s R, 5= ChangRong —

CHANGRONG </ull Changrong Machinery Co.,Itd. CHANGRONG <Nuii Changrong Machinery Co. ltd.
DOT#H A3.%&%] DOT Push-In Fittings DOT-C Pl S  Taper Stud, Male
CR-294
SRS » Tube
DOT-UC ATl TR BART NO . Thread .00 D2 L1 L2 CH
CR-291 S DOT-C-06-R01 R1/8 6*4 1.7 206 75 12
[=— D2 —= PART NG . Shap,. OB L1 DOT-C-06-R02 R1/4 64 1"y 21 1 14
i DOT. .04 45 5 8.8 a0 DOT-C-08-RO1 Bi/8 86 137 245 75 14
NOT-UC-06 a4 17 a4 DOT-C-08-R02 R1/4 B*6 13.7 23 11 14
| ——— m— 13.7 18 - L1 |' - DOT-C-08-R03 RA/8 86 13.7 22 1.5 17
= DOT-C-10-RO2 R1/4 10°8 16.3 285 1 17
? DOT-UC-10 10*8 163 4258 1 |
. - o | DOT-C-10-R03 RA/8 10°8 163 255 115 17
DOT-UC-12 12*10 183 445 T q
B = a DOT-C-10-R04 R1/2 108 163 265 14 e
DOT-UC-ING2 63543 1.7 34 = '
i 1 | DOT-C-12-R02 R1/4 12*10 18.3 27 11 19
DOT-UC-INO3 952638 163 426
-t DOT-C-12-R03 R3/8 12*10 183 316 115 19
@ lube - 183 445
EEE i M DOT-C-12-R04 R1/2 12*10 18.3 27 14 22
DOT-C-IN02-NO1 NPT1/8 63543 117 235 8 12
DOT-C-INO2-NO2 NPT1/4 63543 117 265 12 14
DOT-C-IND2-NO3 NPT3/8 63543  11.7 27 12 19
DOT-HUL  “FHEE A Union Elbow DOT-C-INO3-NO1 NPTi/8 952638 163 30 B 17
CR-292 DOT-C-INO3-NO2 NPT1/4 952*638 16.3 34 12 17
DOT-C-INO3-NO3 NPT3/8 952'6.38 16.3 29 12 19
Tuba ,
Sk B i o in 5 e DOT-C-IND4-NO2 NPT1/4 12.7'955 183 33 12 19
0.D.7LD. DOT-C-INO4-NO3 NPT3/8 127'955 183 315 12 19
DOT-HUL-06 674 12.7 22 22 8.5 DOT-C-INO4-NO4 NPT1/2 127'955 18.3 30 15.5 23
DOT-HUL-08 BB 15.5 25 25 12
DOT-HUL-10 10*8 17.5 28 28 12.7
DT R b 1oR 1 | - . @
DOT-HUL-12 1210 19.5 a1 a1 16 DOT-CI Ff, PIEREL Female Stud
DOT-HUL-INGZ 63543 127 22 22 9.5 CR-295 g
DOT-HUL-INO3 957638 175 28 28 127 Al il oy RV AR R e
DOT-HUL-INO4 12.7*6.55 18.5 31 31 16 DOT-CF-06-RO1 R1/8 6*4 11.7 25 14
DOT-CF-06-R02 R1/4 64 1.7 29 17
DOT-CF-08-R01 R1/8 86 13.7 26 14
DOT-CF-08-RO2 R1/4 86 13.7 265 17
DOT-CF-10-R0O2 Bii4 10°8 163 315 17
T TT R« 4 Sl 1] .
DOT-HUC  *Ff =il Union Tee BOT-CEA0-ROS RY/E 108 163 13 a3
CR-293 E DOT-CF-12-R02 R1/4 12*10 183 35 19
Tube = DOT-CF-12-R03 R3/8 12*10 18.3 a5 29
PART NO . D2 L1 L2 L3 CH
- T ——— -1 O.0.71D. DOT-CF-12-R04 Ri/2 12*10 18.3 37 27
. j  DOT-HUT-08 64 12.7 22 22 22 9.5 DOT-CF-INOZ-NO1 NPT1/8 63543  11.7 25 14
= B DOT-HUT-08 8'6 15.5 25 aE a5 12 DOT-CF-INO2-MN02 MNPT1/4 6.35%4.3 11.7 29 17
! DOT-HUT-10 10*8 17.5 28 28 28 127 DOT-CF-INO3-M02 NPT1/4 95682638 163 318 17
BOT-HUT-12 1510 19.8 31 31 31 18 DOT-CF-INO3-NO3 NPT3/E 952638 163 33 22
= = L
DOT-HUT-INO2 63543 127 22 22 22 9.5 Rk PR S i RS ¥ £
DOT-CF-INO4-NO3 NPT3/8 12.7'9.55 18.3 35 22
DOT-HUT-INO3 952638 17.6 28 28 28 12.7
DOT-CF-INO4-NO4 NPT1/2 12.7'955 18.3 37 27
DOT-HUT-INO4 12.7*9.55 195 31 31 31 16

WWW.Z]Crjx.com 3

Fage 35 FPage 36




C ﬁ ChangRong

"'._F: ChangRong

CHANGRONG <Nuji Changrong Machinery Co., ltd. FLI{I:II:IEH_‘:

DOT-HD  M=if, #MEEL Lateral Tee. Male

CR-296
PART NO . Thraad Loz D2 L1 L2 L3 CH

0.0.%.0.

DOT-HD-06-RO1 R1/8 G4 12.7 22 22 20 9.5
DOT-HD-06-R0O2 R1/4 G 4 12T 22 22 23 8.5
DOT-HD-08-R0O1 R1/8 B*6 15 25 25 23 12
DOT-HD-DB-RO2 R1/4 B"6 15 25 25 24 12
DOT-HD-08-RO3 R3/8 8*6 15 27 27 26 12
DOT-HD-10-R02 R1/4 10*8 17.5 28 28 25 12.7T
DOT-HD-10-R0O3 R3/8 10*8 17.5 28 28 25 12.7
DOT-HD-10-R0O4 R1s2 10*8 17.5 31 31 31 16
DOT-HD-12-R02 R1/4 12*10 18.5 31 31 26 16
DOT-HD-12-R03 R3/8 1210 195 31 31 26 186
DOT-HD-12-R04 R1/2 12710 19.5 31 31 31 16
DOT-HD-INO2-N01 NPT1/8 B.35%4.3 12.7 22 ) 23 9.5
DOT-HD-IM02-MH02 NPT1/4 G.35"4.3 12.7 22 22 23 8.5
DOT-HD-INO3-M02 NPT1/4 9.52"6.38B 17.5 25 25 25 12.7
DOT-HD-INO3-NO3 NPT3/8 9.52*6.3B 17.5 27 27 25 12.7
DOT-HD-INO4-MNO2 NPT1/4 127955 19.5 31 31 27 16
DOT-HD-IM04-M03 NPT3/8 12.7'9.55 18.5 31 31 27 16
DOT-HD-INJ4-MH04 NPT1/2 12.7"9.55 19.5 31 31 31 16

DOT-HLS  Eiff, We¥HMBEr Swiveling Elbow, Male

CR-297
PART MO . Thraad fube D2 L1 L2 L3 CH

0.D.M.D.

DOT-HLS-06-RO1 R1/8 G4 12.7 22 22 20 8.5
DOT-HLS-06-R02 R1/4 G 4 12T 22 22 23 8.5
DOT-HLS-08-R01 R1/8 B*6 15 25 25 23 i2
DOT-HLS-08-R02 R1/4 B*6 15 25 25 24 2
DOT-HLS-08-RO3 R3/8 &6 15 27 27 26 12

! DOT-HLS-10-R02 R1/4 10*8 17.5 2B 28 25 12.7

'_5|r DOT-HLS-10-R03 R3/8 10*8 17.5 28 28 25 12.7

E. DOT-HLS-10-R04 R1s2 10*8 17.5 31 by | k| 16

| DOT-HLS-12-R02 R1/4 12*10 18.5 31 31 26 16
DOT-HLS-12-R03 R3/8 12*10 18.5 31 31 26 16
DOT-HLS-12-R04 R1/2 12710 19.5 31 31 31 16
DOT-HLS-INO2-MO1 NPT1/8 B.35%4.3 12.7 22 22 23 8.5
DOT-HLS-INO2-M02 NPT1/4 B.35"4.3 12.7 22 22 23 8.5
DOT-HLS-INO3-MN02 NPT1/4 952638 17.5 25 25 25 12.T
DOT-HLS-INO3-N03 NPT3/8 9.52°6.38B 17.5 27 27 25 12.7
DOT-HLS-INO4-NO2 NPT1/4 127955 19.5 31 3 27 16
DOT-HLS-INO4-MD3 NPT3/8 127955 19.5 31 3 27 16
DOT-HLS-INO4-MN04 NPT1f2 127955 19.5 31 | 31 16

Page 37

WWW.Zjerjx.com '

L CHANGI:'DHE Zhuji Changrong Machinery Co.,Itd. F&Eﬂ‘{
DOT-HL B, YMEEL Elbow. Male
CR-298
PART NO | s L1 L2 CH
0.0.71.0.
DOT-HL-06-R01 R1/& 64 12.7 22 20 9.5
DOT-HL-06-R02 R1/4 B4 127 22 23 95
DOT-HL-08-RO1 R1/8 876 15 25 23 12
DOT-HL-08-R02 R1/4 86 15 25 24 12
DOT-HL-08-RO3 R3/8 A6 1§ 27 28 12
DOT-HL-10-R02 R1/4 108 175 28 25 127
DOT-HL-10-R03 R3/8 108 175 28 25 127
DOT-HL-10-R04 R1/2 10°8 175 31 31 18
DOT-HL-12-R02 R1/4 1210 195 31 2§ 16
DOT-HL-12-R03 R3/& 1210 195 31 26 16
DOT-HL-12-R04 R1/2 1210 185 31 31 16
DOT-HL-INO2-MO1 NPT1/8 635%3 127 22 23 95
DOT-HL-INO2-N02 NPT1/4 63543 127 22 23 95
DOT-HL-INO3-N02 NPT1/4 ©52638 176 25 25 127
DOT-HL-IND3-ND3 NPT3/8 9.52°6.38 17.5 27 25 12.7
DOT-HL-IMO4-H02 NPT1/4 12.7°955 195 31 27 1B
DOT-HL-INQ4-MND3 NPT3/E 12,79 .55 19.5 31 27 16
DOT-HL-INO4-N04 NPT1/2 12.7°9.55 195 31 31 16
pOT-HT  IE=il. SMBEL Tee, Male
CR-299
PART NO . | bz L1 L2 L3 CH
0.D."LD.
DOT-HT-06-RO1 R1/8 B4 127 22 22 20 95
DOT-HT-06-R02 R1/4 64 12.7 22 22 23 8.5
DOT-HT-08-R01 R1/8 8°6 15 25 25 23 12
DOT-HT-08-RO2 R1/4 86 15 25 25 24 12
T T e DOT-HT-08-R03 R3/8 876 15 27 21 26 12
g | DOT-HT-10-R02 R1/4 10°8 175 28 28 25 127
[ S 8  DOT-HT-10-RD3 R/8 10°8 175 28 28 25 127
! ' DOT-HT-10-RO4 R1/2 1078 176 31 31 3 16
1 DOT-HT-12-R02 R1/4 120 195 31 31 26 16
f DOT-HT-12-R03 R3/8 1210 185 31 31 26 18
= — - DOT-HT-12-R04 R1/2 12*10 185 31 31 31 16
DOT-HT-IN02-NO1 NPT1/8 63543 127 22 22 23 05
DOT-HT-IND2-M02 MPT1/4 6,35%4.3 12.7 22 22 23 9.5
DOT-HT-INO3-NO2 NPT1/4 ©52°638 175 25 25 25 127
DOT-HT-INO3-MO3 NPT3/8 952638 17.5 2T 27 25 12.7
DOT-HT-IN04-NO2 NPT1/4 127955 185 31 31 27 16
DOT-HT-INO4-NO3 NPT3/8 12.7°9.55 195 31 31 27 16
DOT-HT-INO4-NO4 NPT1/2 12.7°955 185 31 31 3 16
Page 38




o
‘ Fau
CHANGRONG

qF

ChangRong

Zhuji Changrong Machinery Co.,ltd.

= an &R

= ke

ih

GRONG

ChangRong

Zhuji Changro

ng

Machinery Co.. ltd

DOT-HTS IE—=if, he¥sdbisy  Swiveling Tee, Male
CR-300
PART NO . T 1 L2 13 cH
o.DMLD.
DOT-HT5-06-R0O1 R1/8 G*4 12.7 22 22 25 8.5
DOT-HT3-06-R02 Rif4 B4 12.7 s S 28 8.5
DOT-HTS-08-R01 R1/8 B*G 15 25 25 28 12
DOT-HTS-08-R0O2 F1/4 26 15 25 25 29 12
DOT-HT3-08-R03 R3/8 86 16 27 27 32 12
DOT-HTS-10-R02 R1/4 108 17.5 28 28 a0 12.7
DOT-HTS-10-R0O3 R385 108 17.5 28 28 30 12.7
DOT-HTS-10-R04 R1r2 10°8 17.5 31 31 36 16
DOT-HT3-12-R02 R1/4 12*10 18.5 31 3 1 16
DOT-HTS-12-R03 R3/8 1210 19.5 31 31 31 16
DOT-HTS-12-R04 Rii2 1210 19.5 31 31 A6 16
== Thread == DOT-HTS-INO2-MO1 MPT1/8 6.35%4.3 12.7 22 22 28 o
DOT-HTS-IMNO2-M02 MPT1/4 6.35%4.3 12.7 22 22 28 9.5
DOT-HTS=INQO3-M02 HPT1/4 9.52'6.38 17.5 23 25 30 12.7
DOT-HTS-IMN03-M03 HMPT3/8 3 52"6.38 17.5 27 27 a0 12.7
DOT-HTS-INQO4-M02 NPT1/4  12.7*9.55 19.5 31 31 32 16
DOT-HTS-IM04-HO3 HNPT3/8 12.7*9.55 19.5 31 31 32 16
DOT-HTS-INQ4-N04 WPFTi1/f2 12.7*9.55 19.5 a1 31 a6 16
DOT-HDS I =i, fGeds-#sr  Swiveling, Lateral Tee, Male
CR-301
PARTNO . Tead " bz L1 12 13 CH
0.0.".D.
DOT-HDS-06-R0O1 R1/8 B*4 12.7 22 22 25 8.5
DOT-HDS-06-RO2 Ri/4 6 4 12.7 s 22 28 8.5
DOT-HDS-08-R01 R1/8 B*6 15 25 25 28 12
DOT-HDS-08-R0O2 Rif4 ] 15 25 25 29 12
DOT-HDS-08-R03 R3/8 B*6 16 27 27 32 12
DOT-HDS-10-R02 R1/4 108 17.5 28 28 30 12.7
DOT-HDS-10-R0O3 R3/8 105 17.5 28 28 30 12.7
DOT-HDS-10-R04 R1/2 10"8 17.5 a1 a a8 16
DOT-HDS-12-RO2 R1/4 12*10 19.5 31 31 31 16
DOT-HDS-12-R03 R3/8 12*10 19.5 31 31 o | 16
DOT-HDE-12-RO4 R1i2 12*10 19.5 31 a1 a6 16
DOT-HDS-INGZ-N01 WNPT1/8 6.35%4.3 12.7T 22 22 28 8.5
iy = DOT-HDS-INOZ2-N02 HNPT1/4 6,354 3 12.7 22 22 28 9.5
- DOT-HDS-IMO3-M02 HPT1/4 952*6.38 17.5 25 25 30 12.7
DOT-HDS-IN03-N03 MPT3/8 8.52"6.38 17.5 27 27 30 12.7
DOT-HDS-ING4-MNO2 NPT1/4 12.7*9.55 19.5 31 31 32 16
DOT-HDS-IN04-N03 WNPT3/8 12.7*9.55 19.5 31 a1 32 16
DOT-HD S-IMD4-MO4 MFT1/2 12.7'9.55 18.5 31 31 a6 16

Fage 39

WWW. ZjCrjx.com &.

Page 40




